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Description

Wil describe the specifications of the program, constitute and how to use
the ISA Instruction set for some conventional mathematical calculations.



DESCRIPTION

INSTRUCTION SET

This simple CPU Instruction set emulation program size
Is 24-bit, using C # language programming, C # good
language style can easily control the binary data and
encapsulation function.
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Opcode

Binary
mov 0001
add 0010
sub 0011
mul 0100
div 0101
end 0000
Initialization

Operand
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Root
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end
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Modaule

Introduce the design and implementation of key components
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Initialize the operands and operators, and the value of a register, because the flexibility of the two-dimensional array is worse than

the one-dimensional array, so the binary operator is used to synchronize the binary operator.
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n=ii+1;

Initialize the operands and operators, and the value of a register, because the flexibility of the two-dimensional array is worse than

the one-dimensional array, so the binary operator is used to synchronize the binary operator.From the original code to resolve the
operator and the operand has a third bit of uncertainty data. Calculate the number of instructions and all into binary code.




For (int i =

3 1 < codes.Getlength{0); i++)

if (codes[i, @] == )

{

if (System.Text.RegularExpressions.Regex.IsMatch{codes[i, 2], 1)

{

s = codes[i, 2];
int num = Array.IndexOf{operandl, codes[i, 1])
int =B = Convert.ToInt32(s)
5 = ConvertBits(s8).ToString();
values2[num] = s;
nus = nus +
culvalue(valuesZ, intvalues);
for (int ix = 8; ix < valuesl.Length; ix++)
{
it (1x == num)

1
}
i._

Console.WriteLine(

}

int num = Array.IndexOf(operandl, cedes|i, 2]):
int num® = Array.Index0f(operandl, codes[i, 1]);
values?2[numd8] = values2[num];

nus = nus +

culvalue(values2, intvalues):

f (int ix = 0: ix < valuesl.Length; ix++)

{
if (ix == num)
{
Console.WriteLine( , valuesi[ix], intvalues[ix], values2[ix]);
}
{
}
1

, valuesi[ix], intvalues[ix], wvalues2[ix]);

ACTION: ASSIGNMENT

Through the regular expression to determine whether
the second operand is a number or a register name, if
It IS a number of it into a binary into the first operand
shown in the register, before that positive or negative,
And then operate



ACTION: ADDITION

if (codes[i, 0] == )

{

{

(System.Text. RegularExpressions.Regex. IsMatch{codes[1,

int num = Array. IndexOf {operandi, codes[1, 1]);
s = codes[1, 2];
int s@ = Convert.TolInt32(s);
string stru = values2[num];
if (stru.Length <= b)
[
for (int sn = stru.Length; sn < 2 Snee)
if (stru[o] == )
{
Stru = + stru;
}
i
stru = + stru;
}
]
}

int s1 = Convert.ToInt32(stru, 2);
s1 = s1 + =8:;

s = ConwertBits(sl).ToString();

values2[num] = s;
nus = nus + 1;
culvalue(values2, intvalues);
for (int ix = 9; ix < valuesl.Length; ix++)
{

if (ix == num)

{

Console. WriteLine(

}

els

{

1

int numl = Array.IndexOf(operandl, codes[i,
int num2 = Array.IndexOf(operandl, codes[i,
string stri = valuesZ[numi];

string str2 = valuesZ[numz];

int 51 = Conwvert.ToInt32(stril, 1 H

int s2 = Conwert,ToInt32(str2, 2);

sl = 51 + s2;

s = ConwertBits(s1).TeString();

valuesZ[numi] = s;

nus = nus + 1;

culvalue(valuesz, intvalues);

f (int ix = 0; ix < valuesl.Length; ix++)

{

» wvaluesi[ix],

13
13;

1. ¥

intvalues[ix], walues2[ix]);



if (codes[i, 0] == )
{
if (System.Text.RegularExpressions.Regex.IsMatch{codes[1, ], N
{
int num = Array. Index0f(operandl, codes|[i, 1]);
5 = codes[i, 2];
int s@ = Convert.TolInt32(s);
string stru = valuesZ[num];
if (stru.Length <= 22)

{
for (int sn = stru.length; sn < 3Z; sn++)
{
if (stru[@] == )
i
stru = + stru;
I
else
stru = + stru;
1 n
}
}

int s1 = Convert.ToInt32(stru, 2);
g1 = 51 - s0;

s = ConvertBits(s1).Tostring();
values2[num] = s;

nus = nus + 1;

culvalue{values2, intvalues);

int numl = Array.IndexOf(operandl, codes[i, 1]);
int numz = Array.IndexOf(operandl, codes[i, 2]);

for (int ix = 0; ix < valuesi.length; ix++) str?ng stri = values2[numi];
[ string str2 = values2[num2];
if (ix == num) int s1 = Convert.ToInt32(str1, 2);
{ int s2 = Convert.ToInt32(str2, 2);
Console. Writeline( , valuesi[ix], intvalues[ix], valuesz[ix]}; sl =51 - s2;
} s = ConvertBits(s1).ToString();
else values2[numl] = s;
{ nus = nus + 1;
culvalue(values?, intvalues);
} for (int ix = 0; ix < valuesl.length; ix++)
{
1 if (ix == numil)

continue; {




ACTION: MULTIPLICATION

rm = S5r;
valuesz[num] = s;

nus = nus + 1;
culvalue(values2, intvalues);

for (int ix = 0; ix < valuesi.lLength; ix++)
{
if (ix==num)
{
Console.Writeline( , valuesi[ix],intvalues[ix],rm);
else {
}

}

continue;

if (codes[1i, == )
{
if (System.Text.RegularExpressions.Regex.IsMatch{codes|[i,
{
int num = Array.IndexOf(operandl, codes[i, 1]);
s = codes[i, 2]:
int sB = Convert.TolInt32(s);
string stru = values2|[num];
it (stru.Length <= 22)

{
for (int sn = stru.Length; sn < 32; sn++)
{
if (stru[@] == )
{
stru = + stru;
}
else
{
stru = + stru;
}
}
}
int sl = Convert.Tolnt32(stru, 2);
sl = s1 * s@;
s = ConvertBits(sl).ToString();
string ssr = s;
if (ssr.Length <= 32)
{
for (int sn = ssr.Length; sn < 32; sn++)
{
if (ssr[@] == )
{
S5 = + S5}
}
else
{
S5 = + SSr;
}
}
1

Is ))




else

int numl = Array.IndexOf(operandl, codes[i, 1])
int num2 = Array.IndexOf(operandl, codes[i, 2])
string stril = valuesZ[numl];

string str2 = values2[num2];

int sl = Convert.Tolnt32(strl, 2);

int s2 = Convert.ToInt32(str2, 2);

if (s2 = 0)

{
Consale.Writeline( N
break;

S ACTION: DIVSION

if (codes[i, == )

{

if (System.Text.RegularExpressions.Regex.IsMatch(codes[1, 2],

{

int num = Array.Index0f(operandl, codes[i, 1]);

s = codes([i, 2];

int s8 = Convert.ToInt32(s);
string stru = values2[num];
if (stru.lLength <= 32)

{
for (int sn = stru.length; sn <
{
if (stru[o] = )
{
stru = + stru;
1
else
{
stru = + stru;
]
}
1
int s1 = Convert.ToInt32(stru, 2);
if {5@ == 0)
{
Console.WritelLine(
break:
}

int dc = s1 % s8;

re = ConvertBits(dc).ToString();
sl = 51 [/ s8;

s = ConvertBits(sl).ToString();
values2[num] = s;

nus = nus + 1;

culvalue(values2, intvalues);
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for (int ix = 0; ix < valuesl.Length; ix++)

{

if (ix == num)
{

!

alse

{
}

Console.Writeline(

}

continue;

, values1[ix],

))

intvalues[ix],valuesz[ix],dc, re);






StringBuilder

int bitMask = << E
StringBuilder bitBuffer =

(int val)

(int 1 = 1; 1 <= ;o1++)

{
((val & bitMask) ==

bitBuffer.Append(

bitBuffer.Append(
val <<= 1;

bitBuffer;

)
);

);

StringBuilder();
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